7.2 Evaluating Logarithms (Part 1)

We will learn to “evaluate” through many examples, keeping in mind the fact that logarithms

and exponentials are inverses of each other. \(
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Practice Problem: Pg. 466 #3
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7.3 Evaluating Logarithms (Part 2)

Here we take this idea of evaluation up a notch. We will continue learning “by example™.

Example 7.3.1
Evaluate

a) log, (5/5)
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Example 7.3.2 )
From your text: Pg. 467 #12
Half-life is the time it takes for half of a sample of a radioactive

U

element to decay. The function M(¢) = P(%)” can be used to

calculate the mass remaining if the half-life is 4 and the initial mass
is P. The half-life of radium is 1620 years.
a) Ifa laboratory has 5 g of radium, how much will there be
in 150 years?
b) How many years will it take until the laboratory has only 4 g
of radium?
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Example 7.3.4

From your text: Pg. 467 #13
The function s(4) = 0.159 + 0.118 log 4 relates the slope, s, of a
beach to the average diameter, 4, in millimetres, of the sand particles

on the beach. Which beach has a steeper slope: beach A4, which has
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very fine sand with 4 = 0.0625, or beach B, which has very coarse
sand with 4 = 1? Justify your decision.

A S(O-Om) = 0.159 + oy % ((0.6625)
0

SC\) = 0 IS9 + 0oI3 (!)

4

NN ~_

= 059 — “swfﬁu‘j{’ <o.;5~7

A

- 0. ]g’?

C o @Qvﬂ/\ % bres W,Jl S}m{ef 5&)@1_

Class/Homework for Section 7.3

Pg. 466 -468#4-7,9,10,11,14-17,19

169



